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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 6265 2.1 1.4 5 41.1 99.5

2a 6208 2.4 1 3 81.4 98.6

2b 6060 0.6 0.5 1 58 96.3

3a 6285 4.3 1.1 5 86.7 99.9

3b 5175 0.6 0.5 1 58.4 82.2

4a 6269 3.6 1.9 6 60.7 99.6

4b 6143 3.5 1.7 5 70 97.6

5ai 6279 0.8 0.4 1 80.5 99.8

5aii 6256 0.6 0.5 1 59.6 99.4

5b 5721 1.4 1.2 3 46.6 90.9

6ai 6173 0.8 0.4 1 83.5 98.1

6aii 6212 0.6 0.5 1 56.2 98.7

6aiii 6237 0.8 0.4 1 76.4 99.1

6aiv 6171 0.6 0.5 1 60.5 98

6bi 5441 0.6 0.5 1 63.3 86.5

6bii 5573 0.3 0.5 1 33.2 88.5

7a 6274 1 0.2 1 95.8 99.7

7b 6260 0.3 0.5 1 32.7 99.5

7c 6037 1 0.8 2 49.4 95.9

8a 6214 0.1 0.3 1 10.9 98.7

8b 5681 1.1 1.1 3 36.5 90.3

9 6221 3.3 1.9 6 54.6 98.8

10 5731 1.5 1.6 4 37.4 91

11a 5913 1.7 1.8 5 34.5 94

11b 5947 1.7 1.4 4 41.8 94.5

11c 4686 1 1.5 6 17.4 74.5

12ai 5917 1.5 1.2 3 51.2 94

12aii 4462 0.6 0.8 2 29.2 70.9

12b 4554 1 1.7 5 19.2 72.3
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Question 8ai 


 


 


 


 



Sticky Note

The candidate correctly calculates what Aled's mother paid but uses £220 rather than £440 to find what Aled and Gareth paid. This means that the candidate is only awarded B1 M0 A0 SC1.












 


 


 



Sticky Note

The candidate correctly evaluates what Aled's mother paid but then does not deal with division in a given ratio correctly. The SC mark cannot be awarded either.
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8 .	 Aled and Gareth went on holiday to France.


	 (a)	 The total cost of the holiday was £660.


	 •	 Aled’s mother paid     of the total cost.


	 •	 Aled and Gareth shared the remaining cost in the ratio 1 : 9.


	 (i)	 Calculate how much each person paid towards the cost of the holiday.	 [4]


	


	


	


	


	


	


	


Aled’s mother paid £ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Aled paid £ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


Gareth paid £ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (ii)	 Explain how you could use your answers to check that they are correct.	 [1]
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18. (a) 4/10 × 3/9 × 6/8 or equivalent  
 


72/720 (= 1/10) or equivalent 


M1 
 


A1 


Accept e.g.  
6/10 × 4/9 × 3/8 or (6 × 4 × 3)/(10 × 9 × 8) 
ISW 


18. (b) 1 – P(three red)   or   1 – P(no yellow) 
             = 1 – [6/10 × 5/9 × 4/8] 


            (= 1 – 120/720 or 1 – 1/6) 
 


            = 600/720 (= 5/6) or equivalent 
 


S1 
M1 


 
 


A1 
 
 
 
 


 
 


 


May be implied by subsequent working. 
Complete method.   
 
 
ISW 
FT from part (a) consistent use of a wrongly 
calculated denominator. 
 
If no other marks awarded,  
SC1 for sight of 784/1000 or equivalent (from a 
method ‘with replacement’) 


Alternative method 
P(YRR or RYR or RRY or YYR or YRY or RYY or 
YYY) or equivalent  (allow up to two of these terms 
to be missing or incorrect for this mark)                    
                             
= 4/10×6/9×5/8×3  +  4/10×3/9×6/8×3 +  
4/10×3/9×2/8  or equivalent     
(complete method required for this mark)  
                                                                               
= 600/720 (= 5/6) or equivalent   ISW           


 
S1 


 
 
 


M1 
 
 
 


A1 
 


 
 
 
 
 
FT 4/10×6/9×5/8×3  +  ‘their part (a)’ × 3 +  
4/10×3/9×2/8   
 
 


19. (a)      a__      or         a__ 
      x(x – a)            x2 – ax   


 


B2 
 
 


B1 for correct numerator - not from incorrect work – 
use of brackets may be implied. 
B1 for correct denominator in a single fraction (accept 
equivalent) 
 
If B2, penalise -1 for incorrect subsequent work 


19.  (b)  x – 1 + 2x(4x + 3) [= 0 ] 
                      or         x – 1 + 8x 2 + 6x [= 0] 


                          or         x – 1 = – 2x(4x + 3) 
 
 
8x 2 + 7x – 1 [= 0] 


 
 
(8x – 1)(x + 1) [= 0] 
 
 
x =  or x = – 1 


 
 


M1 
 
 
 
 


A1 
 
 


B2 
 
 
 


B1 
 


Clearing fraction 
Allow e. g.  x – 1 + 2x(4x + 3)  = 0 
                          x(4x + 3) 
Allow M1 for x – 1 = 2x(4x + 3) 
 
Collecting terms and re-arranging quadratic equation 
Ignore presence of denominator (provided correct). 
 
B1 for (8x …. 1)(x …. 1) 
FT their quadratic equation, provided of equivalent 
difficulty. 
 
Both answers required.  Strict FT ‘their derived 
brackets’. 
 
Using quadratic formula FT their quadratic equation, 
provided of equivalent difficulty. 
 
 (x =)     –7 ±√[72 – 4(8)( –1)]                           M1 
                        2(8) 
For M1, allow one error, in sign or substitution, but 
not in formula.                                                             
  x =    –7 ±√81                                                  A1 
             16 
  x =  or x = – 1   (both answers required) A1 
 
No marks for a trial and improvement method. 


 
 
 
3300U50-1 WJEC GCSE Maths – Unit 1 HT MS S19/DM 












 


 


 


 



Sticky Note

A significant number of candidates were unable to access this question, usually failing to clear the fraction and re-arrange to form a quadratic equation. Even if they obtained the required quadratic equation (or one of equivalent difficulty) many were then unable to handle it successfully.

The opening line from this candidate is an example of an extremely common incorrect response. It unfortunately leads to a quadratic expression which cannot be factorised, though ‘follow through’ marks are available for a valid attempt to solve e.g. using the quadratic formula. 
No marks awarded here.














 


 


 



Sticky Note

An incorrect start, leading to an incorrect quadratic equation (though the resulting equation should have in fact been cubic). Unfortunately, the obtained quadratic expression cannot be factorised, though ‘follow through’ marks are available for a valid attempt to solve e.g. using the quadratic formula (even though this equation has no real roots). 
No marks awarded here.













 


 



Sticky Note

M1 is awarded here for a correct method of clearing the fraction. However, the candidate does not re-arrange the resulting quadratic equation into an appropriate form. No further marks are awarded.
1 mark in total.
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19.	 (a)	 Write the following expression as a single fraction.
		  Give your answer in its simplest form.	 [2]


	


	


	


	


	


	


	


	 (b)	 Solve the following equation.	 [5]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


1
x − a − 1


x


x −1
x 4x + 3( ) + 2 = 0


END OF PAPER
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18. (a) 4/10 × 3/9 × 6/8 or equivalent  
 


72/720 (= 1/10) or equivalent 


M1 
 


A1 


Accept e.g.  
6/10 × 4/9 × 3/8 or (6 × 4 × 3)/(10 × 9 × 8) 
ISW 


18. (b) 1 – P(three red)   or   1 – P(no yellow) 
             = 1 – [6/10 × 5/9 × 4/8] 


            (= 1 – 120/720 or 1 – 1/6) 
 


            = 600/720 (= 5/6) or equivalent 
 


S1 
M1 


 
 


A1 
 
 
 
 


 
 


 


May be implied by subsequent working. 
Complete method.   
 
 
ISW 
FT from part (a) consistent use of a wrongly 
calculated denominator. 
 
If no other marks awarded,  
SC1 for sight of 784/1000 or equivalent (from a 
method ‘with replacement’) 


Alternative method 
P(YRR or RYR or RRY or YYR or YRY or RYY or 
YYY) or equivalent  (allow up to two of these terms 
to be missing or incorrect for this mark)                    
                             
= 4/10×6/9×5/8×3  +  4/10×3/9×6/8×3 +  
4/10×3/9×2/8  or equivalent     
(complete method required for this mark)  
                                                                               
= 600/720 (= 5/6) or equivalent   ISW           


 
S1 


 
 
 


M1 
 
 
 


A1 
 


 
 
 
 
 
FT 4/10×6/9×5/8×3  +  ‘their part (a)’ × 3 +  
4/10×3/9×2/8   
 
 


19. (a)      a__      or         a__ 
      x(x – a)            x2 – ax   


 


B2 
 
 


B1 for correct numerator - not from incorrect work – 
use of brackets may be implied. 
B1 for correct denominator in a single fraction (accept 
equivalent) 
 
If B2, penalise -1 for incorrect subsequent work 


19.  (b)  x – 1 + 2x(4x + 3) [= 0 ] 
                      or         x – 1 + 8x 2 + 6x [= 0] 


                          or         x – 1 = – 2x(4x + 3) 
 
 
8x 2 + 7x – 1 [= 0] 


 
 
(8x – 1)(x + 1) [= 0] 
 
 
x =  or x = – 1 


 
 


M1 
 
 
 
 


A1 
 
 


B2 
 
 
 


B1 
 


Clearing fraction 
Allow e. g.  x – 1 + 2x(4x + 3)  = 0 
                          x(4x + 3) 
Allow M1 for x – 1 = 2x(4x + 3) 
 
Collecting terms and re-arranging quadratic equation 
Ignore presence of denominator (provided correct). 
 
B1 for (8x …. 1)(x …. 1) 
FT their quadratic equation, provided of equivalent 
difficulty. 
 
Both answers required.  Strict FT ‘their derived 
brackets’. 
 
Using quadratic formula FT their quadratic equation, 
provided of equivalent difficulty. 
 
 (x =)     –7 ±√[72 – 4(8)( –1)]                           M1 
                        2(8) 
For M1, allow one error, in sign or substitution, but 
not in formula.                                                             
  x =    –7 ±√81                                                  A1 
             16 
  x =  or x = – 1   (both answers required) A1 
 
No marks for a trial and improvement method. 
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Sticky Note

The candidate has not interpreted the criteria for where the shed needs to be placed in (a) so is therefore awarded no marks. However in (b), the candidate does not calculate their area correctly but does find the costs of their derived area. Therefore B0 M1 A1 is awarded.












Question 1a and 1b 
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WJEC GCSE MATHEMATICS - NUMERACY (NEW) 
 


SUMMER 2019 MARK SCHEME 
 
 


GCSE Mathematics-Numeracy 
Unit 1: Foundation Tier  Mark Comments 
1(a) Rectangle 4cm by 3cm drawn 
 
Rectangle drawn at least 3cm from the house AND at 
least 1 cm from the hedge 
 
Rectangle drawn exactly 2 cm from the flower bed 


B1 
 


B1 
 
 


B1 


 
 
FT ‘their rectangle’ 
 
 
FT ‘their rectangle’ 
 
 


1(b) 12 (m2) 
 
 
15 × 12 
 
(£)180 


B1 
 


 
M1 


 
A1 


 


FT ‘their rectangle’. It must be a rectangle or square. 
This may be seen or implied in a calculation for costs. 
 
FT ‘their 12’ or their derived area. 
 
FT ‘their 12’ × 15 correctly evaluated provided ‘their 
12’ is 6 or more. 
 


1(c)                                                               cuboid 
 


B1  


2(a)             Level -3 B1 
 


 


2(b) (Level) -2 B1 
 


Allow 2- 


2(c) -1 + 10 – 5 or -1 + 5 
 
          4 


M1 
 


A1 


May be seen in a diagram.  
Method may be seen in stages. 
 
If no marks award SC1 for appropriate sight of 9 
(from -1 + 10) 
 


3(a) 40/100  ×  £3 × 90 or equivalent  
e.g. (£)3 × 90 ÷ 10 × 4 
 
 
 
 
 
  
 (£)108 


M2 
 
 
 
 
 


 
 


A1 


M1 for:  
40/100  ×  (£)3 (=1.2(0)) OR   
40/100  × 90 (=36) OR  
(£)3 × 90 (=270) 
These may be implied in workings with other incorrect 
workings, 
e.g. 90 ÷ 3(= 30)then 40/100 × (90 ÷ 3) (= 12) 
 
ISW   
E.g. Ignore further working. 
e.g. 108 + 270 = 378 or 270 – 108 = 162 
 


3(b) 90 ÷ 5 × 8 or equivalent  
e.g.  
90 × 1.6 
18 × 8 
Or use of 10 miles is 16km and 9 × 16 
 
     144 (km) 


M1 
 
 
 
 
 


A1 
 


Method may be seen in stages.  
Calculation that could lead to the correct answer if 
evaluated correctly. 
 
 


  












Question 1a and 1b 


 


 



Sticky Note

The candidate is awarded all 3 marks in part (a) but is only awarded the mark for the correct area of 12 in (b). The candidate does not calculate the costs of the carpet tiles.












 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

In (a), the only mark that can be awarded is the mark for their shed being at least 3 cm from the house and at least 1 cm from the hedge. Their shed does not fulfill the other criteria.
The candidate does not calculate their area correctly and does not understand what 1 square metre means. Therefore B0 B1 B0 B0 M0 A0 is awarded.












 


 


 



Sticky Note

This candidate only loses one mark in part (a) as they have not used a rectangle that is 4m long and 3m wide. The candidate calculates their area correctly and finds the costs for their area.
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1.	 Elwyn wants to put a shed in his garden.


	 (a)	 The diagram below shows a plan of his garden.
		  The scale is 1 cm represents 1 m.
		  It shows the position of the house, the hedge and the flower bed.


HEDGE


HOUSE


FLOWER BED


Scale: 1 cm represents 1 m


		  The base of Elwyn’s shed is rectangular. It is 4 m long and 3 m wide.
		  He wants the shed to be:
	 •	 at least 3 m from the house,
	 •	 at least 1 m from the hedge,
	 •	 exactly 2 m from the flower bed.
		  Draw a possible position for the shed on the diagram.	 [3]


	 (b)	 Elwyn wants to cover the base of the shed with carpet tiles.
		  The carpet tiles cost £15 for each 1 m2.
		  Calculate the total cost of the carpet tiles.	 [3]
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Question 3a 


 


 


 


 



liz

Sticky Note

This candidate has actually completed workings in a different order. There is evidence of finding 40% of 90 so is therefore awarded M1 A0.



liz

Sticky Note

The only error that this candidate has made is adding 3 lots of 90 incorrectly. The method for finding 40% is correct. This means the candidate is awarded M2 A0.












Question 3a 


 


 


 


 












Question 3a 


 


 


 


 



liz

Sticky Note

The candidate is able to work out how much family and friends will give her (£270) but is unable to work out 40% accurately. This means the candidate is awarded M1 A0.
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WJEC GCSE MATHEMATICS - NUMERACY (NEW) 
 


SUMMER 2019 MARK SCHEME 
 
 


GCSE Mathematics-Numeracy 
Unit 1: Foundation Tier  Mark Comments 
1(a) Rectangle 4cm by 3cm drawn 
 
Rectangle drawn at least 3cm from the house AND at 
least 1 cm from the hedge 
 
Rectangle drawn exactly 2 cm from the flower bed 


B1 
 


B1 
 
 


B1 


 
 
FT ‘their rectangle’ 
 
 
FT ‘their rectangle’ 
 
 


1(b) 12 (m2) 
 
 
15 × 12 
 
(£)180 


B1 
 


 
M1 


 
A1 


 


FT ‘their rectangle’. It must be a rectangle or square. 
This may be seen or implied in a calculation for costs. 
 
FT ‘their 12’ or their derived area. 
 
FT ‘their 12’ × 15 correctly evaluated provided ‘their 
12’ is 6 or more. 
 


1(c)                                                               cuboid 
 


B1  


2(a)             Level -3 B1 
 


 


2(b) (Level) -2 B1 
 


Allow 2- 


2(c) -1 + 10 – 5 or -1 + 5 
 
          4 


M1 
 


A1 


May be seen in a diagram.  
Method may be seen in stages. 
 
If no marks award SC1 for appropriate sight of 9 
(from -1 + 10) 
 


3(a) 40/100  ×  £3 × 90 or equivalent  
e.g. (£)3 × 90 ÷ 10 × 4 
 
 
 
 
 
  
 (£)108 


M2 
 
 
 
 
 


 
 


A1 


M1 for:  
40/100  ×  (£)3 (=1.2(0)) OR   
40/100  × 90 (=36) OR  
(£)3 × 90 (=270) 
These may be implied in workings with other incorrect 
workings, 
e.g. 90 ÷ 3(= 30)then 40/100 × (90 ÷ 3) (= 12) 
 
ISW   
E.g. Ignore further working. 
e.g. 108 + 270 = 378 or 270 – 108 = 162 
 


3(b) 90 ÷ 5 × 8 or equivalent  
e.g.  
90 × 1.6 
18 × 8 
Or use of 10 miles is 16km and 9 × 16 
 
     144 (km) 


M1 
 
 
 
 
 


A1 
 


Method may be seen in stages.  
Calculation that could lead to the correct answer if 
evaluated correctly. 
 
 


  












Question 3a 


 


 


 


 



Sticky Note

The candidate is able to work out how much family and friends will give her (£270) but is unable to work out 40% accurately. This means the candidate is awarded M1 A0.












Question 3a 


 


 


 


 



Sticky Note

This candidate knows the method for finding 40% of the amount that Gwenda's family and friends gave her. Unfortunately the candidate has used 4 multiplied by 2 rather than 4 multiplied by 20 in their workings. This means that the candidate is awarded M2 A0.












Question 3a 


 


 


 


 



Sticky Note

This candidate has actually completed workings in a different order. There is evidence of finding 40% of 90 so is therefore awarded M1 A0.
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	 Gwenda wants to raise money for the children’s ward of her local hospital. 
	 She would like to complete a sponsored walk of 90 miles along part of the coastal path of Wales. 


	 (a)	 Gwenda is sponsored a total of £3 per mile by her family and friends.
		  Also, a local company will give her 40% of the total amount she receives from her family 


and friends.
		  How much money will the local company give Gwenda if she completes the walk?	 [3]


	


	


	


	


	


	


	


	 (b)	 Gwenda knows that 5 miles is approximately 8 kilometres.
		  How many kilometres is 90 miles?	 [2]


	


	


	


	












Question 4a and 4b 
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4(a) (lemonade bought =) 200 × 300 
                                      60000 (ml) 
(number of bottles needed=) 60 
 
 
(cost of bottles 60 × 90p=)  
                                     5400(p) or (£)54 
 
 
(cost of 3 packets of cups=) (£)12 or 1200(p) 
(Total cost=) (£)66 or 6600 (p) 
 


M1 
A1 
B1 


 
 
 


B1 
 
 


B1 
B1 


 


 
Ignore units at this stage 
FT ‘their 60000’ ÷ 1000 correctly evaluated. 
This may be implied in the cost of the bottles. 
 
 
Ignore units at this stage 
FT ‘their 60’ × 90 correctly evaluated. 
 
 
If units are given they must be correct.  
FT ‘their (£)12’ + ‘their cost of their number of bottles’ 
correctly evaluated provided consistent units are 
used. 
 
 


Alternative method 
(Number of cups per bottle 1000 ÷ 200 =) 5 
(number of bottles needed=) 300 ÷ 5 
                                          60 
 
 
(cost of bottles 60 × 90p=)  
                                     5400(p) or (£)54 
 
 
(cost of 3 packets of cups=) (£)12 or 1200(p) 
(Total cost=) (£)66 or 6600 (p) 
 


 
B1 
M1 
A1 


 
 
 


B1 
 
 


B1 
B1 


 
This may be embedded e.g. 100 ÷ 5 = 200 
FT 300 ÷ 'their 1000 ÷ 200'  
FT provided correctly evaluated. 
This may be implied in the cost of the bottles. 
 
 
Ignore units at this stage 
FT ‘their 60’ × 90 correctly evaluated. 
 
If units are given they must be correct.  
FT ‘their (£)12’ + ‘their cost of their number of bottles’ 
correctly evaluated provided consistent units are 
used. 
 


Organisation and communication 
 
 
 
 
 
 
 
 
Writing 
 


OC1 
 
 
 
 
 
 
 


 
W1 


 
 


 
 


For OC1, candidates will be expected to: 
• present their response in a structured way 
• explain to the reader what they are doing at each 
step of their response 
• lay out their explanations and working in a way that 
is clear and logical 
• write a conclusion that draws together their results 
and explains what their answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, punctuation and 
grammar 
• use correct mathematical form in their working 
• use appropriate terminology, units, etc. 
 


 
 
4(b) 300 × 50 or 300 × (£)0.5(0) 
 
     15000 (p) or (£)150 
 
(profit=150 - 66) (£)84 or 8400(p) 
 


 
 


M1 
 


A1 
 


B1 


If incorrect units not penalised in (a), penalise -1 once 
only for inconsistent or incorrect units in (b) 
 
 
Ignore units given at this stage 
 
Mark final answer 
FT ‘their 150’ - ‘their 66’ from (a) correctly evaluated 
provided consistent units are used. 
If ‘their 66’ is > ‘their 150’ allow negative answers 
from their workings or a statement following their 
workings that says this is a loss (not a profit). 
 


  












Question 4a and 4b 


 


 


 



Sticky Note

The only mark that this candidate loses in (a) is the mark for calculating 200 multiplied by 300 incorrectly. They then follow through using 6000ml correctly.



Sticky Note

The candidate calculates the cost of selling the lemonade correctly but does not use their answer in (a) to work out the profit.












 


 


 



Sticky Note

This candidate works with finding the number of cups per bottle and does this correctly. However, they make an error in changing their units from pounds to pence when calculating the cost of the bottles. This value is then used correctly thereafter so the candidate only loses one mark in (a). The candidate follows through in (b) to correctly work out their profit.












 


 



Sticky Note

In (a), the candidate is only awarded the mark for 200 multiplied by 300 and the mark for the correct value for the 3 packets of cups.
In (b), the first method mark is awarded but the candidate does not deal with changing pence to pounds correctly. They also think that they have made a profit when using their calculation from (a) when it would be a loss.
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4.	 A local community group is going to have a stall selling lemonade at a summer fete.
	 The group needs to buy cups and bottles of lemonade.


	 Each bottle of lemonade contains 1000 ml and costs 90p.
	 One packet of 100 cups costs £4.


	 The group plans to buy enough to sell 300 cups of lemonade.
	 Each cup will contain 200 ml of lemonade.


	 (a)	 In this part of the question, you will be assessed on the quality of your organisation, 
communication and accuracy in writing.


		  How much will it cost to buy everything that is needed to sell 300 cups of lemonade?
	 [6 + 2 OCW]
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	 (b)	 The community group sells each cup of lemonade for 50p.
		  How much profit will the community group make if they sell all 300 cups of lemonade?
			   [3]


	


	


	


	


	


	












Question 8ai 


 


 


 


 



liz

Sticky Note

The candidate correctly calculates what Aled's mother paid but uses £220 rather than £440 to find what Aled and Gareth paid. This means that the candidate is only awarded B1 M0 A0 SC1.












Question 8ai 
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7(a)(i)                                              3 
                                                        8 
 


B1  


7(a)(ii)                                                            1 : 1 B1 
 


 


7(b) Selects or unambiguously implies  
‘Shorter than Dieter’s sunflower’       
AND 


• states or uses a suitable conversion, e.g. 
             ‘90 cm is 36 inches’ (as given), or 
             ‘1 inch is 2.5(4) cm’, or equivalent 
     OR 


• shows a calculation based on an appropriate 
conversion, e.g. sight of  
90/36, or 10÷4, or similar 


 
Stating or giving any of the following 


• 80 cm as 30 inches to 32 inches inclusive 
• 24 inches as 60 cm to 62 cm inclusive 


 


E1 
 
 
 
 
 
 
 
 
 
 


B1 
 
 
 


Equivalents include: 
• 12 inches as 30 cm 
• 6 inches as 15 cm 
• 9 cm as 3.6 inches 
• 10 cm as 4 inches 


 
 
 
 
 
 
B1 implies previous E1 provided ‘Shorter than 
Dieter’s sunflower’ selected    
 


8(a)(i) (Aled’s mum paid) (£) 220 
             OR 
(Aled and Gareth pay a total of 660 – 220) (£)440 
 
    (660 – 220) ÷ (1 + 9)  or  9 × (660 – 220) ÷ (1 + 9) 
       or       44         or        9 × 44 
 
                             (Aled paid)     (£)  44 
                             (Gareth paid) (£) 396 


B1 
 
 
 


M1 
 
 


A1 
A1 


 
 
 
 
FT 660 – ‘their derived 220’  
 
 
 
FT 9 × 'their 44'  
FT 440 – 'their 44' provided M1 awarded (this allows 
If answers 44 and 396 are reversed, M1, A0, A1 to be 
awarded) 
 
If M0, A0, A0 award SC1 for any of the following 


• answers that add to ‘their 440’ 
• answers (£)66 and (£)594 
• answers (£)22 and (£)198 


 
8(a)(ii) Explanation, e.g. 
220 + 44 + 396 (= 660), 
'add them all up', 
'check to see if the total is (£)660', 
'divide Gareth's amount by 9' 
 
 
 


E1 Depends on at least 1 mark awarded in 8(a)(i) 
Mark as appropriate to candidate’s method in 8(a)(i),  
e.g. accept alternative method using £44 or £396 (if 
originally found from subtraction, sight of appropriate 
multiplication or division, or vice versa) 
 
If values are used, FT provided the 3 values total 
(£)660 
If a total is given in a response it must be correct, 
(£)660 
 
Allow, e.g. 
'multiply Aled's mother's amount by 3', 
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8(b) Sight any of any one of the following: 
• (21.13kg – 20kg =)    1130 (g)      
• 21130 (g) 
• consistent conversion of units g to kg, 


keeping 21.13kg and 20kg unchanged 
               
Coat AND Jumper  
(820 + 320) 


B1 
 
 
 
 


 
B2 


Allow 1.13 (kg) provided it is interpreted correctly 
Accept evidence in working, do not award if working 
is not seen 
If units are given they must be correct 
 
 
Do not award B2 unless either previous B1 awarded 
or appropriate correct working shown 
Do not award B2 if incorrect working or no working 
seen 
 
B1 for any of the following: 


• 1130 – 820 = 310  
• Coat with sight of 310(g) left 
• Unambiguous choice of 820(g) AND 320(g) 


to remove 
• ‘coat and jumper’ without working shown, not 


to be awarded if incorrect working seen 
 
Note:  B1, B2 for unambiguous choice of Coat AND 
Jumper with for sight of  
21130 – 820 – 320 = 19 990 or 820 + 320 = 1140 
OR 
B1, B1 for sight of 21130 – 820 – 320 = 19 990 


 
8(c)(i) Appropriate calculation, e.g.  
     9 × 11.4(0),       
    34.2(0) + 68.4(0),  
    3 × 34.2(0),       
    45.6(0) + 57(.00),  
    (45.6 + 5.7) × 2 
 
                                        102.6(0)  (euros) 


M1 
 
 
 
 
 
 


A1 
 


Calculation that could lead to the correct answer if 
evaluated correctly 


8(c)(ii) Appropriate calculation, e.g. 
           11.4(0) ÷ 2 + 22.8(0), 
           57(.00) ÷ 2, 
          (34.20 + 22.80) ÷ 2 
 
                                         28.5(0)  (euros) 
 


M1 
 
 
 
 


A1 
 


Calculation that could lead to the correct answer if 
evaluated correctly 
 


8(d)(i) Correctly completed frequency diagram 
 


B1 
 


Bars of correct height (16 and 33) for the missing 
intervals 
 


8(d)(ii)                                1.12 ≤ b < 1.16 B1 
 


 












Question 8ai 


 


 


 


 



Sticky Note

The candidate has attempted to divide 660 by 3 but not correctly so cannot be awarded the B mark. The candidate does not attempt to use division in a given ratio to find out how much Aled and Gareth paid. The only mark that can be awarded is the SC mark because the sum of what Aled and Gareth paid adds to 'their 440' (i.e 660-360).











